VIDYA BHAWAN BALIKA VIDYA PITH
CLASS- 2 DATE — 23.06 .21
SUB -MATHS S.T- PRAGYA
BASED ON N.C.E.R.T PATTERN
CH — MULTIPLICATION
WORD PROBLEMS
Solve the following word problems.

A. There are 50 fruits in 1 basket. How many
Fruits are there in 9 such baskets?

B.There are 8 coaches in a train . Each coach can
Accommodate 72 passengers. How many
Passengers can this train carry ?

C.A bike has 2 wheels. How many wheels do
134 bike have ?

D. Hemant bought 110 eggs to make a cake
How many eggs will she need to make 8
Cakes .

E.What is the total number of wheels in 86

Cars ?
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